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Which of the following is incorrect in connection with Post Box?

(A.)  Only fully prepaid unregistered articles of the letter mail are delivered through post box

(B.)  The prescribed rent is to be paid in advance

(C.) Renter is entitled to demand that a post box of any particular number should be allotted to him
(D.) A deposit in respect of a post box cannot be adjusted against any other post box.

Locked post bags with the postal articles placed inside the bag is handed over torented over the counter on
production of:

(A.) Code Word (B.) One Time Password

(C.) Aadhar Card (D.) Delivery Ticket

Official postal articles must bear the superscription......... when posted by Government Officials authorized
to use service postage stamps.

(A.)  On Service (B.)  Postage paid not be detained

(C.)  On India Government Service (D.)  Confidential

What is the rate of warehousing charges per day on VP Parcels for retention beyond 07 days?

(A)) Rs.2.00 (B.) Rs.3.00 (C.) Rs.5.00 (D.) Free

Which one of the following service cannot be availed through IPPB Mobile Application?
(A.)  Online Payment facility to RD account

(B.)  Online Payment facility to PPF account

(C.)  Online Payment facility to SSA account

(D.)  Opening of RD/PPF accounts

What is the maturity period of Sukanya Samriddhi Accounts?

(A.) 21 years from the date of opening

(B.) 20 years from the date of opening

(C.) 25 years from the date of opening

(D.) 10 years from the date of opening

RD accounts car be prematurely closed after........... years.

(A) 1 B.) 2 (Cc) 3 (D) 4

What is the service standard for delivery of Speed Post within same state?

(A) 1-2 days (B.) 1-3 days (C.) 1-4 days (D.) 1-5days
What is the insurance fee for retail customers of articles Insured value up to Rs. 200/-

(A)) Rs.10/- (B.) Rs. 14/- (C.) Rs.4/- (D.) Rs.17/-
A Sub-Office situated in a town or its suburbs where there is also a Head Office is termed:

(A.)  Transit Office (B.) Two Sub-office

(C.) Sorting (D.)  Sorting Sub Office

Central Bagging Unit is a part of which office?

(A.) RMS Office (B.)  Postal Division

(C.) Postal Store Depot (D.)  General Post Office
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(12.)) A Sorting Assistant who works with a Sorting Office over only a portion of its working hours to assist the
set where the work is heavy is called

(A.)  Sorting Assistant (B.) Temporary Sorting Assistant

(C.) Subsidiary Sorting Assistant (D.)  Part Time Sorting Assistant
(13.) A label tied to the top of the labeled bundle is called

(A.) Label (B.)  Station label

(C.) Bundle card (D.)  Check Slip
(14.)  There are three kinds of Mail Bags viz. Station mail bags, Sorting mail bags and...........

(A.)  Airmail Bags (B.) Combined Mail bags

(C.)  Transit mail bags (D.) Labeled mail bags

15.) Superintendent RMS issues "A Order" which deals with?
(A.) Changes in sorting list
(B.)  Change in working hours
(C.)  Performance of staff in mail office
(D.) None of the above
(16.)  D+O0 delivery refers to
(A.) Delivery on the date of receipt of the article
(B.)  Delivery on the next day of receipt of the article
(C.) Delivery after 5 days of receipt of the article
(D.) No delivery of the article
(17.)  Ifthe postage required on embossed postal stationery is more than the value of the stamp printed on the
article, the difference can be made good by:
(A.) Affixing additional revenue stamps of the requisite value
(B.) Affixing additional postage stamps of the requisite value
(C.) Impressions of franking machine for the requisite value
(D.)  All of the above
(18.)  Which of the following is Incorrect?
(A.)  Every letter, packet or parcel has to be stamped with date stamps of at least one Post Office
(B.)  The Post Office cannot take any special precautions to secure the safety of fragile articles
(C.) All articles which are likely to suffer from pressure of stamping should be packed in strong covers
(D.)  None of the above
(19.)  According to general rules as to sealing, which of the following is correct?
(A.)  The public are advised not to use sealing wax for seals outside unregistered letters and packets.
(B.)  When sealing wax is used for seals outside unregistered letters and packets, a piece of tissue or thin
paper, should be laid on the wax.
(C.) The precaution recommended is specially necessary in the case of articles of foreign countries,
which have for several days to pass through very hot climate.
(D.)  All of the above
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(20.)  What is true about posting of coins, bullion, precious stones, Jewellery, articles of gold or silver and
currency or Bank Notes as Inland Post?
(A.) Can't be posted
(B.)  Can be posted at bigger offices only
(C.) Can be posted as insured only
(D.) None of the above is true
(21.)  Letter Boxes marked 'For letters only' should be used for:
(A.) Posting only of letters
(B.) Posting of QMS letters
(C.) Posting of letters and postcards
(D.) Posting of letters and QMS articles
(22.)  Letters or other articles intended to be registered or Insured, must be presented at the Post Office at least
how much time before the time fixed for the closing of any particular mail?
(A.) Fifteen Minutes (B.) Halfan Hour
(C.)  One hour (D.)  No fixed time
(23.)  Which of the following is incorrect?
(A.)  The address should be written parallel to the length of the cover and in the lower half and towards
the right-hand side of the front of the article.
(B.) A clear margin at least 3 centimeters at the top should be left.
(C.)  The Post town should be noted in block letters.
(D.)  The PIN Code of the post town should be noted above.
(24.)  Which of the following pair is Incorrect In relation to Headquarters of Postal Circle?

(A.)  Chhattisgarh -Ralpur (B.)  Delhi New Delhi
(C.)  Odisha Cuttack (D.) Haryana —Ambala
(25.)  The headquarters of Army Postal Services Is located in which city?
(A)) Kolkata (B.) Nagpur (C.) New Delhi (D.) Meerut
(26.)  So far as the public is concerned, there is no difference in the character of service rendered by:
(A.) SOand HO (B.) SO and BO
(C.) BOand HO (D.) BO, SO and HO
(27.)  Which type of the following Post Offices do not exist In India?
(A.) Head Post Offices (B.)  Sub Post Office
(C.) Branch Post Office (D.)  JanDhan Post Offices
(28.)  First Class Head Postmaster, exercise all the powers of a.......... in regard to their own offices
(A.)  Superintendent of Post Offices (B.)  Director of Postal Services
(C.) Either'A'or'B' (D.)  Neither 'A' nor 'B'

(29.)  Which option is not correct?
The public business hours of the post offices are fixed with regard to

(A.) Local convenience
(B.)  The arrival of mails
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(C.) The departure timings of the mail
(D.)  As per order of police authority
Mobile Post Offices remain closed on:

(A.)  Sundays (B.) Holidays

(C.) Both Sundays and Holidays (D.) None of the above

Which stat does not share its boundary with Myanmar?

(A.)  Arunachal Pradesh (B.) Mizoram

(C.) Manipur (D.)  Sikkim

Which of the following lakes In Rajasthan is saline?

(A.) AnaSagar (B.) Pichola (C.) Sambhar (D.) Jalsamand

Who decides allotment of symbols to Political Parties?

(A.) Election Committee of Political Party

(B.)  Political Party Governing Committees

(C.) Political Party leader

(D.) Election Commission

NITI Aayog has been formed to replace which of the following Institution?
(A.) Planning Commission

(B.) IRDA

(C.)  Department of Telecommunication (DOT)

(D.) Department of Information Technology

At which one of the following places do the rivers Alaknanda and Bhagirathi merge to form Ganga?

(A.) Devprayag (B.)  Rudraprayag

(C.) Kamprayag (D.)  Vishnuprayag
Guwahati High Court is the Judicature of

(A)) Assam (B.) Nagaland

(C.)  Arunachal Pradesh (D.)  All of the above
Who founded the Forward Block?

(A.)  Subhas Chandra Bose (B.) Rasbehari Bose

(C.) Jadugoapal Mukhopadhyay (D.) Hemchandra Ghosh
Who started the Ganesh Chaturthi festival?

(A.) Bal Gangadhar Tilak (B.) Lala Lajpat Rai

(C.) Bipin Chandra Pal (D.) Mahatma Gandhi
You are a person with a high level........ if you stand by your values even If others put pressure on you to do
something that is wrong or if they make fun of you.

(A.)) Communication (B.)  Cooperation

(C.) Honesty (D.) Integrity
Having.............. means you can be trusted to do what you are expected to do at work
(A.) Responsibility (B.)  Respect

(C.) Teamwork (D.)  Cooperation
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(41.)  The total simple interest for Rs. 500 In 8 years and Rs. 300 In 16 years Is Rs. 100. If the rate of interest is
equal in both the cases, then find the rate of interest.
(A) 15% B.) 8% (C) 12.5% D) 10%
(42.)  Average of 12 numbers Is 15. If a number 41 is also included, then what will be the average of these 13
numbers?
(A) 15 (B.) 21 (C) 16 D) 17
(43.) P and Q together can do a work in 18 days. P alone can do the same work in 27 days. In how many days can
Q alone do the same work?
(A)) 54 days (B.) 36days (C.) 45days (D.) 9days
(44.)  Ifatrain, travelling at a speed of 90kmph, crosses a pole in 5 sec, then the length of train is?
(A) 104m (B.) 125m (C) 140m (D) 152m
45.) If 15 chairs cost Rs. 234, what will be the cost of 70 chairs?
(A.) Rs. 1092 (B.) Rs. 1225 (C.) Rs. 1050 (D.) Rs.546
(46.)  If 16 dozen bananas cost Rs.360, then how many bananas can be bought in Rs.60?
(A) 16 (B.) 48 (C) 32 (D.) 50
(47.)  Evaluate: 1800-+[10{(12-6)+(24-12)}]
(A) 10 B.) 12 (C) 20 D) 22
(48.)  What is the value of (42% of 7200) - (12% of 4800)?
(A) 2268 (B.) 2248 (C.) 3458 (D) 2178
49.) The number whose 25% is 50 is
(A) 250 (B.) 350 (C.) 200 (D.) 400
(50.)  Ifaperson sells a 'sari' for Rs. 5200, making a profit of 30%, then the cost price of the sari is?
(A.) 4420 (B.) 4000 (C.) 3900 (D.) 3800
GDS TO PM/MTS HIMACHAL PRADESH CIRCLE-2023 KEY
ANSWER
(1) C 2) D 3) C 4.) B 5.) D
(6.) A (7) C 8. C 9. A (10.) B
(11, A (12) C 13, D (14, B (15, A
(16.) 17, B (18, A (19, D (20.) C
(21) C (22.) B (23, D (24, C (25.) C
(26.) A (27.) D (28, A (29, D (30, C
31) D 32, C 33, D (34, A (RED) A
(36.) D 37, A (38, A 39, D (40.) A
(41.) C (42, D 43, A (44, B 45.) A
(46.) C 47, A (48, (49, C (50.) B
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